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(*) Instructions to candidates:
1) All questions are compulsory"
2) Figures to the right indicate full marks.
3) Use of scientific calculator is allex,ved.
4) Assume suitable data where ever required"

Q.1) Attempt any olt'e
a) Explain hall effect sensor with neat diagrarn?

b) Differentiate thermocouple and thernistor?

Q.2l Attempt any one
a) Define lenz law? E><plain Fleming's left hand rule in detail?
bi Explain servo motor with the h"elp of neat diagram

Q.3) Attempt any onc
a) Draw and explain ARM core based processor?
b) What is sampling? Dcplain types of sampling?

Q.4) Attempt any orre
a) i) Derive the transfer function for pI controller and

represent using block diagram?
ii) Reduce flowing
Technique?

using block reduction

C{S}

b) i) Differentiate close loop and open loop eontrol systern?
ii) Derive transfer function equation for pD control system?

Q.5) Attempt any one
a) Draw ladder logic

Press start button to sta,-t conveyor, each box is co*nted
with pr'ximity switch. A1l the 1oo0 no of boxes are to be
collected in a container after coliecting container has to
move with the heip of pump.
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ii) Define latching? Explain the concept of latching by
taking motor example

b) i) Draw ladder logic for fallowing process shown in {ig?
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ii) Draw a ladder logic for cutting machine
process: when we press start button lubricant should flow,after 25 secorid the cutter should start.

Q.6) Attempt any one
a) ilopen loop Lransfer funcrion of a unity feedtrack system

L
GT.T)\ / s(.s+1)

Find the Nature of response and locate poles of closed loopsystem for unit step input. Find T6, T., To, Mo, T". alsocomment on stahility of the system
b) i) Determine the system is stable or unstable by usingRouth stability criterion./ For TF

2S4 + 53+ SS2+ 53+ I0 = O
ii) Write down difference betrveen hydrauiic and pneumaticsystem?

t6l

Ll I

t6I

", l't


